
Stellenwertsystem (Klasse 3) 
 
 

T H Z E ZAHLWORT 

   1 = eins 

  1 0 = zehn 

    = 

    = 

    = 

    = 

    = 

 
 

E= Einer Z= Zehner H=  

      

T=      

      
 
 
 



Stellenwertsystem KOMPLETTLÖSUNG 
 
 

M HT ZT T H Z E ZAHLWORT 

      1 = eins 

     1 0 = zehn 

    1 0 0 = einhundert  (Klasse 2) 

   1 0 0 0 = eintausend   (Klasse 3) 

  1 0 0 0 0 = zehntausend  (Klasse 4) 

 1 0 0 0 0 0 = einhunderttausend 

1 0 0 0 0 0 0 = eine Million 

 

E= Einer Z= Zehner H= Hunderter 

      

T= Tausender ZT= Zehntausender HT= Hunderttausender 

      

M= Million     
 


